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[M3L1] [M3L 2]
A 3 0 PiyoPiyo A 1 3
15 9 15 11
1D 2 T 1D I
15 5 4 15
2D 2 T - 2D -~ -
15 3 14 15
1S 2 o - 1S - P
7 15
2S 0 2S -
3S o 3S
[M3L 3] [M3L 4]
B 1 3 A 1 3
15 11 15 9
1D 2| 15 12 1D 15 9
17 15 8 15
2D 1 é 1% 2D - T
1 15 2 15
1S o o 1S T
3 15 4 15
2S 0] T 2S 0T
3S 0 3S
[M3L5] [M3L6]
PiyoPiyo A 3 2 2 3
2 15 15 9
1D o -7 1D 1“5 12
15 11 5 15
2D 2 - 2D 15 1“5
17 14 2 15
1S 2 T - 1S - e
7 15 15 12
2S 1 1 1% 2S T
15 10 2 15
3S 2 R 3S -




42

[M3L 7] [ M3L 8]
A 3 1 PiyoPiyo A 1 3
13 15 6 15
1D 0] T 1D -
15 11 15 11
2D 2 T 2D T
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9 15 14 17
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2D 2 T 2D T
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B 3 1 3 0
6 15 12 15
1D 0] - o 1D 1% é
15 4 15 8
2D 2 T 2D T
15 8 15 3
1S 2 T 1S R
15 12
2s 2| 5 11 2s
3S 0 3S
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° 3 R
[M3R 1] [M3R 2]
3 0 CHERRY 3 2
15 0 15 12
1D 2 7 - 1D B,
15 0 10 15
2D 2 T - 2D - -
15 0 14 15
1S 2 7 ° 1S -
15 5
2S 0 2S B,
15 3
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3 0 3 0 BS
15 2 15 10
1D 2 7 ° 1D B,
16 17 15 5
2D 2 = 11 2D T
15 7 15 2
1S 2 7 - 1S B
2S 0 2S
3s 0 3S
[M3R5] [M3R 6]
CHERRY 2 3 C 3 0
0 15 15 2
1D 0 - 1D o
6 15 17 14
20 1 7% 20 7 ia
15 6 15 9
1S 2 7 ° 1S .
15 0
2S 2 7 - 2S
6 15
3s 0 - 3s
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[M3R 7] [M3R 8]
3 0 CHERRY 1 3 BS
15 7 15 5
1D 2l 1D ik
15 10 15 12
2D 2l - 2D Ty
15 6 9 15
1S 2l - ° 1S .
14 17
2S 0 2S T
3s 0 3S
[M3R 9] [ M3R 10 ]
0 3 BS 1 3 C
0 15 9 15
1D ol -~ -~ 1D T
0 15 6 15
2D ol -~ -~ 2D = 1o
0 15 11 15
1S ol -~ -~ 1S P
2 15
2S 0 2S .
3s 0 3s
[ M3R 11] [M3R 12]
3 0 3 0 CHERRY
15 0 15 5
1D 2l - ° 1D B
15 0 15 1
2D 2l - ° 2D B
15 0 15 7
1S 2l - ° 1S o
2S 0 2S
3S 0 3S
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9 15 7 15
1D 0 - - 1D an P
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1S 0 - - 1S - -
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2D 0 T 2D - P
1S 0 1S
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° 6 R
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2D ol - -~ 2D - T
1S 0 1S
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15 5 3 15
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3 15 15 7
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1D 0 - s 1D lé fs
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[WER 7] [ W6R 8]
2 0 Plaisir 2 1
15 10 15 6
1D 2 o ° 1D 1"5 11
15 8 2 15
2D 2 e - 2D - e
11 4
1S 0] 1S I
[W6R 9] [ W6R 10 ]
Plaisir 0 2 0 2
2 15 4 15
1D 0 s 1D 121 1;
1 15 8 15
2D 0 - T 2D - P
1S 0] 1S




